CALCULUS: 6Graphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy
Chapter 7: Application of Definite Integrals 7.1: Integral as Net Change

What you'll Learn About

+ Theintegral is a tool that can be used to calculate net change and total
accumulation
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The graph of the velogily-of a particle moving on the x-axis is given.
The particle starts a m

\ H a) Find the particles displacement for the first 4 seconds.
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b) Where is the particle at the end of the trip?
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¢) Find the total distance traveled by the particle.
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The graph of the velogjix-ofaparicle moving on the x-axis is given.
The particle starts a W

a) Find the particles displacement for the first ¥ seconds.

Change in Po{&-ra.-.'. 3 -\L+Y.S = -4,5

b) Where is the particle at the end of the trip?
Sturt + displacemeat
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¢) Find the total distance traveled by the particle.
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The functior) v(t) = 16 - 4t §s the velocity in m/sec of a particle moving
along the x-axis from [0, 6].

a) Determine when the particle is stopped and when the particle is
moving to the right and left.
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b) Find the particle's dlgplaggu nent for the given time interval.
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¢) Ifs(0) =3, what is the particle's final position?
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d) Find the total distance traveled by ahe particle.
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3.2
(€)= Le=2t +3¢

The function v(t) = > - 4t + 3 ja xelocity in m/sec of a particle
moving along the x-axis frong

a) Determine when the particlé 5 Stopped and when the particle is
moving to the right and left.
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b) Find the particle's dlqplacemcm for the given time interval.
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¢) Ifs(0)=4, whai 1s the particle's final poqltlon’
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d) Find the total distance traveled by the particle.
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